
Quiz 6 Math-1100-es32 2011 October 17

1 Solve the following equations for x. Show at least one intermediate step for each.
a 2x2 + 3x = 5

2x2 + 3x = 5;
2x2 + 3x− 5 = 0;

(2x + 5)(x− 1) = 0;
2x + 5 = 0 or x− 1 = 0;

2x = −5 or x = 1;

x = −5
2
or x = 1.

b (x− 3)(x + 5) = 9

(x− 3)(x + 5) = 9;
x2 + 2x− 15 = 9;
x2 + 2x− 24 = 0;

(x + 6)(x− 4) = 0;
x + 6 = 0 or x− 4 = 0;

x = −6 or x = 4.

2 The length of a rectangular room is 8 metres more than the width. The area of the room is 48 square me-
tres. Solve an equation to �nd the length and width of the room. Show at least what equation you use to
solve this problem, as well as your �nal answer in words.
Let w be the width of the room in metres, and let l be the length of the room in metres. Then l = w + 8.
Since the area, lw, is 48m2,

(w + 8)w = 48;
w2 + 8w = 48;

w2 + 8w − 48 = 0;
(w + 12)(w − 4) = 0;

w + 12 = 0 or w − 4 = 0;
w = −12 or w = 4.

Since the width of a room must be positive, w = 4; then l = w + 8 = 4 + 8 = 12. Therefore, the length of
the room is 12 metres and the width is 4 metres.
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